
SWH PV RACKING
ASSEMBLY DRAWINGS

(626) 579-3288 INFO@ESOLARWAREHOUSE.COM 
9628 VALLEY BLVD ROSEMEAD, CA 91770

P
A
G
E
 

SWH PV RACKING
ASSEMBLY DRAWINGS

(626) 579-3288 INFO@ESOLARWAREHOUSE.COM 
9628 VALLEY BLVD ROSEMEAD, CA 91770

P
A
G
E
 

08
15

SWH - ROOF BAR MOUNT FOR TILE ROOF

SWH MR-SW-RB-1.0FT
4’ SPREAD



SWH PV RACKING
ASSEMBLY DRAWINGS

(626) 579-3288 INFO@ESOLARWAREHOUSE.COM 
9628 VALLEY BLVD ROSEMEAD, CA 91770

P
A
G
E
 

SWH PV RACKING
ASSEMBLY DRAWINGS

(626) 579-3288 INFO@ESOLARWAREHOUSE.COM 
9628 VALLEY BLVD ROSEMEAD, CA 91770

P
A
G
E
 

09
15

SWH - ROOF BAR MOUNT FOR TILE ROOF

B A C KF R O N T
S I D E

SWH SS ROOF BAR 
• MR-SW-RB-1.0FT

5/16”x3-1/2” SS LAG BOLT

5/16”x1-1/2” SS LAG BOLT

5/16”x3/4” SS FLAT WASHER 3/8” SS FLANGE NUT

3/8”X 3/4” SS T-BOLT


